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Question: 1

A vPC Type-1 inconsistency between two vPC peers in a VXLAN EVPN setup is discovered. Which two
actions need to be attempted to resolve the issue? (Choose two.)

A. Configure the NVE interfaces to be Up on both switches.

B. Set a different distributed gateway virtual MAC address.

C. Set a differentsecondary IP addresses on NVE source-interface.

D. Configure the same VNI to multicast group maping.

E. Set a different primary IP addresses on NVE source-interface.

Answer: AD

Question: 2

A mission-critical server is connected to site

A. Connectivity to this server is lost from site B because the MAC route is missing in the OTV VDC of the
Nexus 7000 in site B due to MAC aging. Which action allows the flooding of the unknown unicast MAC on
the Nexus 7000 in the OTV VDC?

A. Use route-map to advertise this MAC statically and redistribute with ISIS.

B. Unknown unicast flooding is not allowed.

C. Use the otv flood mac <> command to selectively flood traffic for a given MAC.

D. Use the otv isis bfd <> command to configure BFD protocol.

Answer: B

NEW QUESTION 1
An engineer discovers that an NPV/NPIV uplink experiences a heavy load and plans to add more uplinks. Which statement about what
occurs when the new uplinks are added is true?

A. Only new connections use the new uplinks automatically.

B. Paths must be defined before new connections can use the new uplinks.
C. All connections must be reset before the new uplinks can be used.

D. New and existing connections use the new uplinks automatically.
Answer: D

NEW QUESTION 2
An engineer is troubleshooting a failed DCBX exchange between a server and a Cisco Nexus switch. Which action allows DCBX to
successfully negotiate?

A. Enable ETS

B. Enable PFC.

C. Enable Cisco Discovery Protocol.
D. Enable LLDP.

Answer: D

NEW QUESTION 3

DRAG DROP

Drag and drop the Cisco UCS SNMP fault types from the left onto the correct issues on the right.
Select and Place:

300-615 dumps exhibit

A. Mastered
B. Not Mastered
Answer: A

Explanation:
300-615 dumps exhibit

NEW QUESTION 4
300-615 dumps exhibit
Refer to the exhibit. An engineer is performing a health check on ACI. Which statement about interface Ethernet 1/11 is true?

A. The interface is working correctly and fully operational, but it is not in use.
B. The interface policy is misconfigured.

C. “out-of-service” is the default interface status in ACI.

D. “out-of-service” indicates that no service graph is in use for this interface.
Answer: B

NEW QUESTION 5
A vPC Type-1 inconsistency between two vPC peers in a VXLAN EVPN setup is discovered. Which two actions need to be attempted to
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resolve the issue? (Choose two.)

A. Configure the NVE interfaces to be Up on both switches.

B. Set a different distributed gateway virtual MAC address.

C. Set a different secondary IP addresses on NVE source-interface.
D. Configure the same VNI to multicast group maping.

E. Set a different primary IP addresses on NVE source-interface.
Answer: AD
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